Created by Verfied by

PRIMARY VENDOR
ALTERNATE VENDOR

BID PROPOSAL FORM (FORMAT B)

| Type or print in this box the complete name of the bidder:  |  |                                  |  |   |  |  |
|---|--|----------------------------------|--|---|--|--|
|   |  | - 1                              |  |   | i  | i  |
|   | A Affordable Carnet P Maintenance Inc  |                                  | P Maintanana las   | Dura Floor Inc, d/b/a Dura Bond Co.   |  |  |
| Bid No.: 090-NN09   |  | - 1                              | A Affordable Carpet  | & Maintenance, Inc.   | j Dura Ploor inc, d/i  | J/a Dura Bond Co.  |
| Title: Epoxy Flooring: Furnish and Install  |  | - 1                              |  |   |  | i  |
| Buyer: Suzanne F. Lopez   |  |                                  |  |   | !  |  |
| DESCRIPTION   | EST QTY.<br>(24 M0S.)  | UNIT                             | UNIT PRICE   | TOTAL   | UNIT PRICE   | TOTAL  |
| for an award.<br>1/8" Epoxy Flooring, Type N - Normal Duty, shalll have a minimum SCoF (  | slip resistano   | e) coefficie                     | nt of 0.60.  | e alternate vendor, meeting all sp  | ecifications. Vendor(s) must bid al  | I items in order to be considered  |
|   | ip resistance  | coemicient                       | 01 0.70.   |   |  |  |
| tems 1 through 14 are for projects from 0 to 500 5q. Ft.  | ——————————————————————————————————————   |                                  |  |   | F  |  |
| Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 167  | Sq. Ft.                          | \$1.00   | \$167.00  | \$15.00  | \$2.505.00   |
| Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 167  | Sq. Ft.                          | \$14.77  | \$2,466.59  | \$15.00  | \$2,505.00   |
| Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoal/sealer)                                | 167  | Sq. Ft.                          | \$16.77  | \$2,800.59  | \$18.00  | \$3,006.00   |
| Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                               | 167  | Sq. Ft.                          | \$16.77  | \$2,800.59  | \$18.00  | \$3,006.00   |
| Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 1,334  | Sq. Ft.                          | \$13.77  | \$18,369.18   | \$8.00   | \$10.672.00  |
| Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                           | 1,000  | Sq. Ft.                          | \$8.77   | \$8,770.00  | \$11.00  | \$11,000.00  |
| Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include repair/replacement of damaged wood floor     | 167  | Sq. Ft.                          | \$8.77   | \$1,464.59  | \$15.00  | \$2,505.00   |
| Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)   | . 167  | Sq. Ft.                          | \$3.77   | \$629.59  | \$15.00  | \$2,505.00   |
| Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-DCPS                             | 280  | Hour                             | \$25.00  | \$7,000.00  | \$55.00  | \$15,400.00  |
| Remove and replace storage shelving, furniture and non-kitchen equipment. Does not include built-in storage/shelving units  | 280  | Hour                             | \$20.00  | \$5,600.00  | \$55.00  | \$15,400.00  |
| Supply and install non-skid epoxy floor coating 1/8" with a minimum slip coeficient of 0.7.   | . 167  | Sq. Ft.                          | \$1.00   | \$167.00  | \$7.00   | \$1,169.00   |
| Supply and install non-skid epoxy floor coating 1/4" with a minimum slip coeficient of 0.6.   | 167  | Sq. Ft.                          | \$7.77   | \$1,297.59  | \$8.00   | \$1,336.00   |
| Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris     | 167  | Sq. Ft.                          | \$8.77   | \$1,464.59  | \$7.00   | \$1,169.00   |
| Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris | 1,000  | Sq. Ft.                          | \$2.77 1 of 5  | \$2,770.00  | \$7.00   | \$7,000.00   |
|   | Title: Epoxy Flooring: Furnish and Install Buyer: Suzanne F. Lopez  DESCRIPTION  AWARD: An award will be made on a total low bid basis, for Items 1 through for an award.  1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF ( 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF ( 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF ( 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF ( 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF ( 1/4" Epoxy Flooring of Epoxy flooring to match thickness of existing epoxy floor, to  include: removal of damaged existing epoxy floor, substrate preparation, and two separate  floodcoats (clearcoat/sealer)  Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to  include: removal of damaged existing epoxy floor, substrate preparation, and two separate  floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of  existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing concrete to include: substrate  preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing concrete to include: substrate  preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate  preparation, and two separate floodcoats (clearcoat/sealer)  Remove and replace kitchen equipment, including disconnect and reconnect of gas, water  and electrical supplies. Contractor must submit drop test certification in writing to M-  Remove and replace kitchen equipment, including disconnect and reconnect of gas, water  and electrical supplies. Contractor must submit drop test certification in writing to M-  Remove and replace storage shelving, furniture and non-kitchen equipment. Does not  include built-in storage/shelving units  Supply and | DESCRIPTION   EST OTY. (24 MOS.) | Bid No.: 899-NN99 Title: Epoxy Flooring: Furnish and Install Byer: Suzanne F. Lopez  DESCRIPTION  EST OTY. (24 M0S.) UNIT  AWARD: An award will be made on a total low bid basis, for Items 1 through 81, to the lowest responsitor an award.  1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficient 1/8" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficient Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoal/scaler)  Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing itle, substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoal/scaler)  Install 1/4" thick new epoxy flooring over existin | His No.: 900-NN99 Titlet Epoxy Flooring: Fursish and Install Bryer: Suzanne F. Lopez  DESCRIPTION  EST OTY. (24 MOS.)  UNIT UNIT PRICE  AVARD: An award will be made on a total low bid basis, for Items I through B. It, to the lowest responsive, responsible primary, and or for an award.  1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficient of 0.60.  1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficient of 0.70.  Hems I through 14 are for projects from 0 to 500 Sq. Ft.  Regain of existing 14" epoxy flooring to match thickness of existing epoxy floor, to mulude: removal of damaged existing spoxy floor, substitute preparation, and two separate floodcoats (clearcoat/scaler)  Available 1/4" thick new epoxy flooring to match thickness of existing epoxy floor, to module: removal of damaged existing spoxy floor, substitute preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy flooring replacing existing equary lite to include: removal of existing it, substrate preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing unity tile, substrate preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy flooring replacing existing seramic tile to include: removal of existing unity tile, substrate preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy flooring replacing existing view of the include: substrate preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy flooring replacing existing view of the include: substrate preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/scaler)  Install 1/4" thick new epoxy floor existing existing view of the existing view | A Affordable Carpet & Maintenance, Inc.    Bid No. 109-NN99   The Egesy Phortage Partials and Testall Dayers Seasons F. Leptes | This Roy Photo Photographering Parolish and Intell Boyer Statemen F Leight  DESCRIPTION  EST OTY. UNIT UNIT PRICE  TOTAL UNIT PRICE  AVARD. An award will be made on a total low bid basis, for letters I through 81, to the lowest responsive, responsible primary, and one alternate vendor, meeting all specifications. Vendor(s) must bid all for an award.  AVARD. An award will be made on a total low bid basis, for letters I through 81, to the lowest responsive, responsible primary, and one alternate vendor, meeting all specifications. Vendor(s) must bid all for an award.  AVARD. An award will be made on a total low bid basis, for letters I through 81, to the lowest responsive, responsible primary, and one alternate vendor, meeting all specifications. Vendor(s) must bid all for an award.  AVARD. An award will be made on a total low bid basis, for letters I through 14 are for projects from 0 to 500 Sq. Pc.  Temper of celling If a "specy thoring type H - Heavy Duty, shall have a minimum SC-P (dip resistance) coefficient of 0.70.  Items 1 through 14 are for projects from 0 to 500 Sq. Pc.  Temper of celling If a "specy thoring manch hiddens or feeling geory floor. to mindule memory of changed existing expending on the separate floodors (deconsorders).  Fagure of existing If a peoply flooring trapleting existing expending existing expending existing expending on the separate floodors (deconsorders).  Facial I/A* libids new epocy flooring replacing existing e |

BIO PROPOSAL FORM (FORMAT B) Type or print in this box the complete name of the bidder: A Affordable Carpet & Maintenance, Inc. Dura Floor Inc, d/b/a Dura Bond Co. Bid No.: 090-NN09 Title: Epoxy Flooring: Furnish and Install Buver: Suzanne F. Lopez EST QTY. UNIT UNIT PRICE TOTAL UNIT PRICE TOTAL Ітемі DESCRIPTION (24 M0S.) AWARD: An award will be made on a total low bid basis, for Items I through 81, to the lowest responsive, responsible primary, and one alternate vendor, meeting all specifications. Vendor(s) must bid all items in order to be considered 1/8" Epoxy Flooring, Type N - Normal Duty, shalll have a minimum SCoF (slip resistance) coefficient of 0.60. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficient of 0.70. Items 1 through 14 are for projects from 0 to 500 Sq. Ft. Items 15 through 27 will be for projects from 501 to 1500 Sq. Ft. Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to Sq. Ft. 500 \$1.00 \$500.00 \$3,000.00 include: removal of damaged existing epoxy floor, substrate preparation, and two separate \$6.00 floodcoats (clearcoat/sealer) Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to 500 Sa. Ft. \$9.77 \$4.885.00 \$6.00 \$3,000.00 include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of 500 Sa. Fi. \$7.77 \$3,885.00 \$7.00 \$3,500.00 existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal 1.000 \$9.77 \$9,770.00 \$7.00 \$7,000.00 Sq. Ft. of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring over existing concrete to include: substrate 3,000 \$7.77 \$23,310.00 \$7.00 Sq. Ft. \$21,000.00 preparation and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of 3,000 Sq. Ft. \$5.77 \$17.310.00 \$7.00 \$21,000.00 existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include 500 Sq. Ft. \$4.27 \$2,135.00 \$7.00 \$3,500.00 repair/replacement of damaged wood floor Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate 500 Sq. Ft. \$1.00 \$500.00 \$7.00 \$3.500.00 preparation, and two separate floodcoats (clearcoat/sealer) Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-280 Hour \$57.00 \$15,960.00 \$55.00 \$15,400.00 Remove and replace storage shelving, furniture and non-kitchen equipment. Does not 280 \$57.00 \$15,960,00 \$55.00 \$15,400.00 Hour include built-in storage/shelving units 25 Supply and install non-skid epoxy floor coating with a minimum slip coefficient of 0.8 500 Sq. Ft. \$2.50 \$1,250.00 \$3.00 \$1.500.00 Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal 1.500 Sq. Ft. \$6.77 \$10,155.00 \$7.00 \$10,500.00 of removed material and debris Remove mortar/mudbed and restore original floor elevation with the epoxy flooring 1,000 \$3,270.00 \$7,000.00 manufacturer's approved sub floor product, greater than 2" thick. Price shall include Sq. Ft. \$3.27 \$7.00 disposal of removed material and debris

|      | BID PROPOSAL FORM (FORMAT B)  |   |               |                                  |                                    | ,                                   |                                   |  |  |  |
|------|---|---|---------------|----------------------------------|------------------------------------|-------------------------------------|-----------------------------------|--|--|--|
|      | Type or print in this box the complete name of the bidder:  |   |               |                                  |                                    |                                     | ļ                                 |  |  |  |
|      | Bid No.: 090-NN09   |   |               | A Affordable Carpet              | & Maintenance, Inc.                | Dura Floor Inc, d/b                 | o/a Dura Bond Co.                 |  |  |  |
|      | Title: Epoxy Flooring: Furnish and Install  |   |               |                                  |                                    | į                                   |                                   |  |  |  |
|      | Buyer: Suzanne F. Lopez   | 10  |               |                                  |                                    | İ                                   |                                   |  |  |  |
| ITEM | DESCRIPTION   | EST QTY.<br>(24 MOS.)                           | UNIT          | UNIT PRICE ·                     | TOTAL                              | UNIT PRICE                          | TOTAL                             |  |  |  |
|      | AWARD: An award will be made on a total low bid basis, for Items I through for an award.  | 81, to the lov                                  | vest respons  | ive, responsible primary, and on | e alternate vendor, meeting all sp | ecifications. Vendor(s) must bid al | l items in order to be considered |  |  |  |
|      | 1/8" Epoxy Flooring, Type N - Normal Duty, shalll have a minimum SCoF (   | (slip resistan                                  | ce) coefficie | ent of 0.60.                     |                                    |                                     |                                   |  |  |  |
|      | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl   | ip resistance                                   | ) coefficien  | t of 0.70.                       |                                    |                                     |                                   |  |  |  |
|      | Items 1 through 14 are for projects from 0 to 500 Sq. Ft.   | rough 14 are for projects from 0 to 500 Sq. Ft. |               |                                  |                                    |                                     |                                   |  |  |  |
|      | Items 28 through 40 are for projects from 1501 to 3500 Sq. Ft.  |   | .—            |                                  |                                    |                                     |                                   |  |  |  |
| 28   | Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)     | 1,167   | Sq. Ft.       | \$0.50                           | \$583.50                           | \$6.00                              | \$7,002.00                        |  |  |  |
| 29   | Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)     | 1.167   | Sq. Ft.       | \$0.50                           | \$583.50                           | \$6.00                              | \$7.002.00                        |  |  |  |
| 30   | Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoal/sealer)                                  | 2,334   | Sq. Ft.       | \$6.77                           | \$15,801.18                        | \$6.00                              | \$14,004.00                       |  |  |  |
| 31   | Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                                 | 1.167   | Sq. Ft.       | \$4.77                           | \$5,566.59                         | \$6.00                              | \$7,002.00                        |  |  |  |
| 32   | Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 8.167   | Sq. Ft.       | \$5.77                           | \$47,123.59                        | \$6.00                              | \$49,002.00                       |  |  |  |
| 33   | Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate and two separate floodcoats (clearcoat/sealer)  | 1,167   | Sq. Ft.       | <b>\$</b> 5.77                   | \$6,733.59                         | \$6.00                              | \$7,002.00                        |  |  |  |
| 34   | Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate<br>preparation, and two separate floodcoats (clearcoat/sealer). Does not include<br>repair/replacement of damaged wood floor | 1,167   | Sq. Ft.       | \$2.77                           | \$3,232.59                         | \$6.00                              | \$7,002.00                        |  |  |  |
| 35   | Install I/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167   | Sq. Ft.       | \$1.00                           | \$1,167.00                         | \$6.00                              | \$7.002.00                        |  |  |  |
| 36   | Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-DCPS                               | 240   | Hour          | \$57.00                          | \$13,680.00                        | \$55.00                             | \$13,200.00                       |  |  |  |
| 37   | Remove and replace storage shelving, furniture and non-kitchen equipment. Does not include built-in storage/shelving units  | 240   | Hour          | \$25.00                          | \$6,000.00                         | \$55.00                             | \$13,200.00                       |  |  |  |
| 38   | Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8   | 1,167   | Sq. Ft.       | \$2.70                           | \$3,150.90                         | \$3.00                              | \$3,501.00                        |  |  |  |
| 39   | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris       | 3,334   | Sq. Ft.       | \$4.77                           | \$15,903.18                        | \$7.00                              | \$23,338.00                       |  |  |  |
| 40   | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris   | 1,167   | Sq. Ft.       | \$1.50                           | \$1.750.50                         | \$7.00                              | \$8,169.00                        |  |  |  |

|          | BID PROPOSAL FORM (FORMAT B)  |                       |               |                     |                                    |                                     |                                   |
|----------|---|-----------------------|---------------|---------------------|------------------------------------|-------------------------------------|-----------------------------------|
|          | Type or print in this hox the complete nume of the bidder:  |                       |               |                     |                                    |                                     |                                   |
|          | Bid No.: 090-NN09   |                       | 1             | A Affordable Carpet | & Maintenance, Inc.                | Dura Floor Inc, d/l                 | o/a Dura Bond Co.                 |
|          | Title: Epoxy Flooring: Furnish and Install  |                       |               |                     |                                    | İ                                   | į                                 |
|          | Buyer: Suzanne F. Lopez   |                       | 1             |                     |                                    | i                                   | i                                 |
| ITEM     | DESCRIPTION   | EST QTY.<br>(24 M0S.) | UNIT          | UNIT PRICE          | TOTAL                              | UNIT PRICE                          | TOTAL                             |
| 1        |   | (2+ 11100.)           |               |                     |                                    | i                                   | · •                               |
|          | AWARD: An award will be made on a total low bid basis, for Items 1 through for an award.  |                       |               |                     | c alternate vendor. meeting all sp | ecifications. Vendor(s) must bid al | l items in order to be considered |
|          | 1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (  |                       |               |                     |                                    |                                     |                                   |
|          | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl<br>Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  | ip resistance         | e) coellicien | r ot v./v.          |                                    |                                     |                                   |
|          | Items 41 through 53 are for projects greater than 3500 Sq. Ft.  |                       |               |                     |                                    |                                     |                                   |
| <u> </u> |   |                       | T             |                     | , , ,                              | ·                                   |                                   |
| 41       | Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor. to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1.167                 | Sq. Ft.       | \$0.50              | \$583.50                           | \$6.00                              | \$7.002.00                        |
| 42       | Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167                 | Sq. Ft.       | \$0.50              | \$583.50                           | \$6.00                              | \$7.002.00                        |
| 43       | Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                                | 1,167                 | Sq. Ft.       | \$4.77<br>          | \$5.566.59                         | \$6.00                              | \$7,002.00                        |
| 44       | Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                               | 1,167                 | Sq. Ft.       | \$4.77              | \$5,566.59                         | \$6.00                              | \$7,002.00                        |
| 45       | Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 4,667                 | Sq. Ft.       | \$5.77              | \$26,928.59                        | \$6.00                              | \$28.002.00                       |
| 46       | Install I/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                           | 1,167                 | Sq. Ft.       | \$6.77              | \$7,900.59                         | \$6.00                              | \$7.002.00                        |
| 47       | Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include repair/replacement of damaged wood floor     | 1,167                 | Sq. Ft.       | \$1.00              | \$1,167.00                         | \$6.00                              | \$7.002.00                        |
| 48       | Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167                 | Sq. Ft.       | \$1.77              | \$2,065.59                         | \$6.00                              | \$7,002.00                        |
| 49       | Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-DCPS                             | 160                   | Hour          | \$57.00             | \$9,120.00                         | \$55.00                             | \$8,800.00                        |
| 50       | Remove and replace storage shelving, furniture and non-kitchen equipment. Does not include built-in storage/shelving units  | 160                   | Hour          | \$25.00             | \$4,000.00                         | \$55.00<br>I                        | \$8,800.00                        |
| 51       | Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8   | 1,167                 | Sq. Ft.       | \$1.77              | \$2,065.59                         | \$3.00                              | \$3,501.00                        |
| 52       | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris     | 1,167                 | Sq. Ft.       | \$5.50              | \$6,418.50                         | \$6.00                              | \$7,002.00                        |
| 53       | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris | 1,167                 | Sq. Ft.       | \$1.77              | \$2,065.59                         | \$6.00                              | \$7,002.00                        |

|      | BID PROPOSAL FORM (FORMAT B)   |                | _             |                                  |                                     | .:                                  |                                   |
|------|--|----------------|---------------|----------------------------------|-------------------------------------|-------------------------------------|-----------------------------------|
|      | Type or print in this box the complete name of the bidder:   |                |               |                                  |                                     |                                     | i                                 |
| 1    |  |                |               |                                  |                                     | i                                   | i                                 |
| ŀ    | Bid No.: 090-NN09  |                |               | A Affordable Carpet              | & Maintenance, Inc.                 | Dura Floor Inc, d/b                 | o/a Dura Bond Co.                 |
|      | Title: Epoxy Flooring: Furnish and Install   |                |               |                                  |                                     | i                                   | i                                 |
|      | Buyer: Suzanne F. Lopez  |                |               |                                  |                                     | i ·                                 | i                                 |
|      | Dujer. Suzumer. Dojez  |                |               |                                  |                                     | <u> </u>                            |                                   |
|      | ·  |                |               |                                  |                                     |                                     |                                   |
| ITEM | DESCRIPTION  | EST QTY.       | UNIT          | UNIT PRICE                       | TOTAL                               | UNIT PRICE                          | TOTAL                             |
|      |  | (24 M0S.)      |               |                                  |                                     |                                     |                                   |
| 1    |  |                |               |                                  | ·                                   | !                                   | L!                                |
|      | AWARD: An award will be made on a total low bid basis, for Items 1 through for an award.                   | 81, to the lov | vest respons  | ive, responsible primary, and on | e alternate vendor, meeting all spe | ecifications. Vendor(s) must bid al | l items in order to be considered |
|      | 1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF                                       | (slip resistan | ce) coefficie | ent of 0.60.                     |                                     |                                     |                                   |
|      | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl                                    | lip resistance | ) coefficien  | t of 0.70.                       |                                     |                                     |                                   |
|      | Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  |                |               |                                  |                                     | ~                                   |                                   |
|      | Items 54 through 81 are for Ancillary Services   |                | j= i          |                                  |                                     | ·                                   | <u></u> -                         |
| 54   | Remove and replace floor mounted toilets including disconnect and reconnect of water supply                | 50             | Euch          | \$175.00                         | \$8,750.00                          | \$165.00                            | \$8.250.00                        |
| 55   | Remove and replace privacy partitions  | 125            | Linear Ft.    | \$19.77                          | \$2.471.25                          | \$16.00                             | \$2,000.00                        |
| 56   | Slope to drain maximum thickness 2"  | 250            | Sq. Ft.       | \$17.00                          | \$4,250.00                          | \$5.00                              | \$1,250.00                        |
| 57   | Slope to drain thickness greater than 2"   | 250            | Sq. Ft.       | \$2.77                           | \$692.50                            | \$5.00                              | \$1.250.00                        |
| 58   | Supply and install 4" integral cove base   | 2.500          | Linear Ft.    | \$6.77                           | \$16,925.00                         | \$5.00                              | \$12,500.00                       |
| 59   | Supply and install 6" integral cove base   | 1.250          | Linear Ft.    | \$6.77                           | \$8.462.50                          | \$5.00                              | \$6.250.00                        |
| 60   | Replace 4" round floor drain in any type surface in which the existing drain is fully or partially exposed | 5              | Each          | \$377.00                         | \$1,885.00                          | \$350.00                            | \$1,750.00                        |
| 61   | Replace 6" round floor drain in any type surface in which the existing drain is fully or partially exposed | 5              | Each          | \$377.00                         | \$1,885.00                          | \$360.00                            | \$1.800.00                        |
| 62   | Replace 4" round floor drain in any type surface in which the existing drain is unexposed                  | 3              | Each          | \$577.00                         | \$1,731.00                          | \$520.00                            | \$1,560.00                        |
| 63   | Replace 6" round floor drain in any type surface in which the existing drain is unexposed                  | 25             | Each          | \$577.00                         | \$14.425.00                         | \$580.00                            | \$14.500.00                       |
| 64   | Install Moisture Barrier   | 9.500          | Sq. Ft.       | \$2.17                           | \$20.615.00                         | \$1.00                              | \$9,500.00                        |
| 65   | Install stair treads   | 3.750          | Sq. Ft.       | \$5.77                           | \$21,637.50                         | \$15.00                             | \$56,250.00                       |
| 66   | Install stair risers   | 3,750          | Linear Ft.    | \$4.77                           | \$17,887.50                         | \$15.00                             | \$56,250.00                       |

| Created by   | <i>D</i> Y_ |
|--------------|-------------|
| Verfled by _ |             |

|      | BID PROPOSAL FORM (FORMAT B)  |   |                      |                                  |                                    | ,                                   |                                   |  |  |
|------|---|---|----------------------|----------------------------------|------------------------------------|-------------------------------------|-----------------------------------|--|--|
|      | Type or print in this how the complete name of the hidder:  |   |                      |                                  |                                    | !                                   |                                   |  |  |
|      |   |   |                      | A Affardable Cornet              | O Braintanana Inc                  | Dura Floor Inc. d/                  | /a Dura Board Co                  |  |  |
|      | Bid No.: 090-NN09   |   | - 1                  | A Affordable Carpet              | & Maintenance, Inc.                | Dura Floor Inc, d/t                 | ora Dura Bond Co.                 |  |  |
|      | Title: Epoxy Flooring: Furnish and Install  |   |                      |                                  |                                    |                                     |                                   |  |  |
|      | Buyer: Suzanne F. Lopez   |   |                      |                                  |                                    | [                                   |                                   |  |  |
|      | ·   | EST QTY.  |                      |                                  |                                    | i l                                 |                                   |  |  |
| ITEM | DESCRIPTION   | (24 M0S.)   | UNIT                 | UNIT PRICE                       | TOTAL                              | UNIT PRICE                          | TOTAL                             |  |  |
|      |   |   |                      |                                  |                                    | ! ·                                 |                                   |  |  |
|      | AWARD: An award will be made on a total low bid basis, for Items 1 through  | 81, to the lov  | vest respons         | ive, responsible primary, and on | e alternate vendor, meeting all sp | ecifications. Vendor(s) must bid al | l items in order to be considered |  |  |
|      | for an award.   |   |                      |                                  |                                    |                                     | ,                                 |  |  |
|      | 1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF  | (slip resistan  | ce) coefficie        | ent of 0.60.                     |                                    |                                     |                                   |  |  |
| 1    |   |   |                      |                                  |                                    |                                     |                                   |  |  |
|      | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl   | np resistance   | ) coefficien         | 1 01 0.70.                       |                                    |                                     |                                   |  |  |
|      | Items 1 through 14 are for projects from 0 to 500 Sq. Ft.   | ems 1 through 14 are for projects from 0 to 500 Sq. Ft. |                      |                                  |                                    |                                     |                                   |  |  |
| 67   | install stair stringers   | 250   | Linear Ft.           | \$1.00                           | \$250.00                           | \$4.00                              | \$1.000.00                        |  |  |
|      | Remove existing metal stair nosings & prepare stairs to receive new epoxy nosings and                             |   |                      |                                  |                                    |                                     |                                   |  |  |
| 68   | coatings  | 8.334   | Linear Ft.           | \$3.77                           | \$31.419.18                        | \$1.00                              | \$8.334.00                        |  |  |
|      |   |   |                      |                                  |                                    | 510.00                              | *******                           |  |  |
| 69   | Install stair nosings   | 3.334   | Linear Ft.           | \$4.77                           | \$15.903.18                        | \$10.00                             | \$33,340.00                       |  |  |
| 70   | Install stair landings  | 834   | Sq. Ft.              | \$13.77                          | \$11,484.18                        | \$8.00                              | \$6,672.00                        |  |  |
| 71   | Prepar and install impervious epoxy coatings on walls and ceilings  | 16,667  | Sq. Ft.              | \$0.50                           | \$8,333.50                         | \$3.00                              | \$50.001.00                       |  |  |
| 72   | Prepare/replace seriously damages walls to receive impervious coatings  | 6,667   | Sq. Ft.              | \$1.77                           | \$11,800.59                        | \$10.00                             | \$66.670.00                       |  |  |
| 73   | Plumber to replace shut off valves for gas lines (must be properly certified)                                     | 13  | Each                 | \$100.00                         | \$1,300.00                         | \$140.00                            | \$1,820.00                        |  |  |
| 74   | Plumber to replace shut off valves for plumbing fixtures  | 20  | Each                 | \$50.00                          | \$1,000.00                         | \$95.00                             | \$1.900.00                        |  |  |
| 75   | Plumber to replace covers for 4" round floor drains   | 13  | Éach                 | \$75.00                          | \$975.00                           | \$60.00                             | \$780.00                          |  |  |
| 76   | Plumber to replace covers for 6" round floor drains   | 13  | Each                 | \$75.00                          | \$975.00                           | \$70.00                             | \$910.00                          |  |  |
| 77   | Plumber to replace flush valves for toilets   | 13  | Toilet               | \$100.00                         | \$1,300.00                         | \$70.00                             | \$910.00                          |  |  |
| 78   | Montly price to fumish 40 cubic ft. storage container   | 17  | Month                | \$250.00                         | \$4,250.00                         | \$450.00                            | \$7,650.00                        |  |  |
| 79   | Monthly price to furnish 20 cubic fl. storage container   | 17  | Month                | \$250.00                         | \$4,250.00                         | \$420.00                            | \$7,140.00                        |  |  |
| 80   | Additional mobilization/setups to complete a project that requires work to be performed in excess of three phases | 11  | Additional<br>Set-up | \$0.00                           | \$0.00                             | \$90.00                             | \$990.00                          |  |  |
| 81   | Furnish and install new bullet feet on metal shelves  | 167   | Each                 | \$10.00                          | \$1,670.00                         | \$18.00                             | \$3.006.00                        |  |  |
|      |   |   | TOTAL                |                                  | \$576.402.04                       |                                     | \$837.258.00                      |  |  |

Created by Verfied by

PRIMARY VENDOR

| BIO PROPOSAL FORM (FORMAT B)  |  | _  |  |  | · .  | ,  |  |
|---|--|--|--|--|--|--|--|
| Bid No.: 090-NN09<br>Title: Epoxy Flooring: Furnish and Install   |  |  | Kasa   | as Const   | ruction, Inc   | **Trident Su   | rfacing, Inc.  |
| DESCRIPTION   | EST QTY.<br>(24 M0S.)  | TINU   | UNIT PRICE   |  | TOTAL  | UNIT PRICE   | TOTAL  |
| for an award.<br>1/8" Epoxy Flooring, Type N - Normal Duty, shalll have a minimum SCoF (  |  | **Vendor did not meet requirements due to not being Pre-<br>Certified by M-DCPS. |  |  |  |  |  |
|   | 167  | Sq. Ft.  | \$22.00  |  | \$3,674.00   | \$6.00   | \$1,002.00   |
| Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)     | 167  | Sq. Ft.  | \$24.50  |  | \$4.091.50   | \$7.00   | \$1,169.00   |
| Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                                  | 167  | Sq. Fi.  | \$23.50  |  | \$3.924.50   | \$8.00   | \$1,336.00   |
| Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                                 | 167  | Sq. Ft.  | \$24.50  |  | \$4,091.50   | \$4.00   | \$668.00   |
| Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 1.334  | Sq. Ft.  | \$23.50  |  | \$31,349.00  | \$5.00   | \$6.670.00   |
| Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                             | 1.000  | Sq. Ft.  | \$24.50  |  | \$24,500.00  | \$6.00   | \$6,000.00   |
| Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate<br>preparation, and two separate floodcoats (clearcoat/sealer). Does not include<br>repair/replacement of damaged wood floor | 167  | Sq. Ft.  | \$24.50  |  | \$4,091.50   | \$1.00   | \$167.00   |
| Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 167  | Sq. Ft.  | \$23.50  |  | \$3,924.50   | \$8.00   | \$1,336.00   |
| Remove and replace kitchen equipment, including disconnect and reconnect of gas, water<br>and electrical supplies. Contractor must submit drop test certification in writing to M-<br>DCPS                        | 280  | Hour   | \$35.00  |  | \$9,800.00   | \$20.00  | \$5,600.00   |
| Remove and replace storage shelving, furniture and non-kitchen equipment. Does not include built-in storage/shelving units  | 280  | Hour   | \$20.00  |  | \$5,600.00   | \$20.00  | \$5,600.00   |
| Supply and install non-skid epoxy floor coating 1/8" with a minimum slip coefficient of 0.7.  | 167  | Sq. Ft.  | \$22.00  |  | \$3,674.00   | \$8.00   | \$1,336.00   |
| Supply and install non-skid epoxy floor coating 1/4" with a minimum slip coeficient of 0.6.   | 167  | Sq. Ft.  | \$23.00  |  | \$3,841.00   | \$4.00   | \$668.00   |
| Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris       | 167  | Sq. Ft.  | \$2.00   |  | \$334.00   | \$5.00   | \$835.00   |
| Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris   | 1,000  | Sq. Ft.  | \$2.50   | 7 of 5   | \$2,500.00   | \$4.00   | \$4.000.00   |
|   | Bid Na.: 690-NN09  Title: Epoxy Flooring: Furnish and Install Bayer: Suzanne F. Lopez  DESCRIPTION  AWARD: An award will be made on a total low bid basis, for Items I through for an award.  1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl. 1/4" Epoxy Flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Repair of existing 1/4" epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing vinyl tile to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include remair/replacement of | Bid No.: 890-NN09  | Title: Epoxy Plooring; PonAntal State of the biblior:  DESCRIPTION  EST OTY. (24 MOS.)  DESCRIPTION  EST OTY. (24 MOS.)  AWARD: An award will be made on a total low bid basis, for Items I through 81, to the lowest respons for an award.  I/3" Epoxy Plooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficien Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing, tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing, tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" | Bid No.: 090-NN09 Title: Epoxy Flooring: Parnish and Install Bayer: Suzanne F. Lopez  DESCRIPTION  EST GTY. (24 M08.)  UNIT UNIT PRICE  AWARD: An award will be made on a total low bid basis, for Items I through 81, to the lowest respons for an award.  1/3" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficie  Items I through 14 are for projects from 0 to 500 Sq. Pt.  Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor. to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floor docates (clearcoat/sealer)  Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing concrete to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  Install 1/4" thick new epoxy flooring over existing wood floor to include: substrat | Bid No.: 990-NN99 Title: Epoxy Flooring, Fersital and Install Buyer: Suzanne F, Lopez  DESCRIPTION  SET GTY, (24 MOS.) UNIT UNIT PRICE  AWARD: An award will be made on a total low bid basis, for Items I through B1, to the lowest respons for an award.  I/I' Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficie  I/4" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficie  I/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficien  Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  Repair of existing 14" epoxy flooring match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate  Repair of existing 14" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate  Repair of existing 14" epoxy flooring replacing existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate  Repair of existing 14" epoxy flooring replacing existing epoxy floor, substrate preparation, and two separate floodocats (clearcoat/sealer)  Install I/4" thick new epoxy flooring replacing existing e | The Epocy Plearing Furnish and Install  Ober CRIPTION  EST OTY, (24 MOS.)  DESCRIPTION  EST OTY, (24 MOS.)  DESCRIPTION  EST OTY, (24 MOS.)  LINIT UNIT PRICE  TOTAL  AWARD: An award will be made on a total low bid basis, for Items 1 through 81, to the lowest respons for an award.  I/3" Epocy Plearing, Type N- Normal Duty, shall have a minimum SCoF (slip resistance) coefficien  Items 1 through 14 are for protects from 0 to 500 Sq. Pt.  Repair of existing 14" epocy flooring to mach thickness of existing epocy floor, to include removal of insurance coefficien in the company of the people of the peopl | NAMED AND PROPER TOTAL UNIT PRICE    Section F. Leges   Particular and festial |

Created by Verfled by

BID PROPOSAL FORM (FORMAT B) Type or print in this box the complete name of the bidder: Kasas Construction, Inc. \*\*Trident Surfacing, Inc. Bid No.: 090-NN09 Title: Epoxy Flooring: Furnish and Install Buver: Suzanne F. Lonez EST QTY. ITEM DESCRIPTION UNIT UNIT PRICE TOTAL UNIT PRICE TOTAL (24 M0S.) AWARD: An award will be made on a total low bid basis, for Items 1 through 81, to the lowest respons for an award. \*\*Vendor did not meet requirements due to not being Pre-1/8" Epoxy Flooring, Type N - Normal Duty, shalll have a minimum SCoF (slip resistance) coefficie Certified by M-DCPS. 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficien Items 1 through 14 are for projects from 0 to 500 Sq. Ft. Items 15 through 27 will be for projects from 501 to 1500 Sq. Ft. Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate Sq. Ft. \$22.00 \$11,000.00 \$6.00 \$3,000.00 (loodcoats (clearcoat/scaler) Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to \$6.50 \$3,250.00 include; removal of damaged existing epoxy floor, substrate preparation, and two separate 500 Sq. Ft. \$24.50 \$12.250.00 floodcoais (clearcoai/sealer) Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of Sq. Ft. 500 \$23.50 \$11,750.00 \$7.00 \$3,500.00 existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal 1,000 Sq. Ft. \$24.50 \$24.500.00 \$4.00 \$4,000.00 of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring over existing concrete to include: substrate \$5.00 \$15,000.00 3.000 Sq. Ft. \$23.50 \$70,500.00 preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of 3,000 Sq. Ft. \$24.50 \$73,500.00 \$6.00 \$18.000.00 existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer) Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include 500 Sq. Ft. \$24.50 \$12,250,00 \$1.00 \$500.00 repair/replacement of damaged wood floor Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate 500 Sq. Ft. \$23.50 \$11,750.00 \$7.00 \$3,500.00 preparation, and two separate floodcoats (clearcoat/sealer) Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-280 Hour \$30.00 \$8,400,00 \$20.00 \$5,600.00 Remove and replace storage shelving, furniture and non-kitchen equipment. Does not 280 \$20.00 \$5,600.00 \$20.00 \$5,600.00 Hour include built-in storage/shelving units Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8 Sq. Ft. \$22.00 \$11,000.00 \$4.00 \$2,000.00 Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal 1.500 Sq. Ft. \$2.00 \$3,000.00 \$5.00 \$7,500.00 of removed material and debris Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include 1.000 Sq. Ft. \$2.50 \$2,500.00 \$4.00 \$4,000.00 disposal of removed material and debris

|      | BID PROPOSAL FORM (FORMAT B)  |                       |                      | ·           |               |              |               |  |  |
|------|---|-----------------------|----------------------|-------------|---------------|--------------|---------------|--|--|
|      | Type or print in this box the complete name of the bidders  |                       |                      |             |               |              |               |  |  |
|      | Bid No.: 090-NN09   |                       |                      | Kasas Const | truction, Inc | **Trident Su | rfacing, Inc. |  |  |
|      | Title: Epoxy Flooring: Furnish and Install  |                       |                      |             |               |              |               |  |  |
|      | Buyer: Suzanne F. Lopez   |                       |                      |             |               |              |               |  |  |
| ITEM | . DESCRIPTION   | EST QTY.<br>(24 M0S.) | UNIT                 | UNIT PRICE  | TOTAL         | UNIT PRICE   | TOTAL         |  |  |
|      | AWARD: An award will be made on a total low bid basis, for Items I through for an award.  | 81, to the low        | vest respons         |             | JI            |              |               |  |  |
|      | 1/8" Epoxy Flooring, Type N - Normal Duty, shalll have a minimum SCoF (slip resistance) coefficie  **Vendor did not meet requirements due to not being Pre- Certified by M-DCPS.                                |                       |                      |             |               |              |               |  |  |
|      | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficien  |                       |                      |             |               |              |               |  |  |
|      | Items 1 through 14 are for projects from 0 to 500 Sq. Ft.   |                       |                      |             |               |              |               |  |  |
|      | Items 28 through 40 are for projects from 1501 to 3500 Sq. Ft.  |                       |                      | <del></del> | п             | -            |               |  |  |
| 28-  | Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to thefude: removal of damaged existing epoxy floor; substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1.167                 | <del>\$q. 1°t.</del> | \$22.00     | \$25.674.00   | \$5.00       | \$5.835.00    |  |  |
| 29   | Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include; removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167                 | Sq. Ft.              | \$24.50     | \$28.591.50   | \$6.00       | \$7,002.00    |  |  |
| 30   | Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                                | 2,334                 | Sq. Ft.              | \$23.50     | \$54.849.00   | \$7.00       | \$16,338.00   |  |  |
| 31   | Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)                               | 1.167                 | Sq. Fı.              | \$24.50     | \$28.591.50   | \$4.90       | \$4.668.00    |  |  |
| 32   | Install 1/4" thick new epoxy flooring over existing concrete to include; substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 8,167                 | Sq. Ft.              | \$23.50     | \$191,924.50  | \$5.00       | \$40,835.00   |  |  |
| 33   | Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile. substrate and two separate floodcoats (clearcoat/sealer)  | 1,167                 | Sq. Fi.              | \$24.50     | \$28.591.50   | \$6.00       | \$7,002.00    |  |  |
| 34   | Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include repair/replacement of damaged wood floor     | 1,167                 | Sq. Ft.              | \$24.50     | \$28,591.50   | \$1.00       | \$1,167.00    |  |  |
| 35   | Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167                 | Sq. Ft.              | \$23.50     | \$27,424.50   | \$6.00       | \$7.002.00    |  |  |
| 36   | Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-DCPS                             | 240                   | Hour                 | \$35.00     | \$8,400.00    | \$20.00      | \$4,800.00    |  |  |
| 37   | Remove and replace storage shelving, furniture and non-kitchen equipment. Does not include built-in storage/shelving units  | 240                   | Hour                 | \$20.00     | \$4,800.00    | \$20.00      | . \$4.800.00  |  |  |
| 38   | Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8   | 1,167                 | Sq. Ft.              | \$22.00     | \$25,674.00   | \$4.00       | \$4,668.00    |  |  |
| 39   | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris     | 3,334                 | Sq. Ft.              | \$2.00      | \$6,668.00    | \$5.00       | \$16.670.00   |  |  |
| 40   | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris | 1,167                 | Sq. Ft.              | \$2.50      | \$2,917.50    | \$4.00       | \$4,668.00    |  |  |

Created by \_\_\_\_\_\_

|      | BID PROPOSAL FORM (FORMAT B)  Type or print in this has the complete name of the bidder:  |                    |         | -          |                           |            |             |  |  |
|------|---|--------------------|---------|------------|---------------------------|------------|-------------|--|--|
|      | Bid No.: 090-NN09   |                    |         | Kasas Cons | **Trident Surfacing, Inc. |            |             |  |  |
|      | Title: Epoxy Flooring: Furnish and Install Buyer: Suzanne F. Lopez  |                    |         |            |                           |            |             |  |  |
| ITEM | DESCRIPTION   | EST QTY. (24 MOS.) | ·UNIT   | UNIT PRICE | TOTAL                     | UNIT PRICE | TOTAL       |  |  |
|      | AWARD: An award will be made on a total low bid basis, for Items 1 through 81, to the lowest respons for an award.  1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (slip resistance) coefficie  1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficien  Items 1 through 14 are for projects from 0 to 500 Sq. Ft. |                    |         |            |                           |            |             |  |  |
|      | Items 41 through 53 are for projects greater than 3500 Sq. Ft.  |                    |         |            |                           |            |             |  |  |
| 41   | Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to<br>include; removal of damaged existing epoxy floor, substrate preparation, and two separate<br>floodcoats (clearcoat/sealer)   | 1.167              | Sq. Ft. | \$22.00    | \$25,674.00               | \$5.00     | \$5.835.00  |  |  |
| 42   | Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167              | Sq. Ft. | \$24.50    | \$28,591.50               | \$6.00     | \$7.002.00  |  |  |
| 43   | Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 1.167              | Sq. Ft. | \$23.50    | \$27,424.50               | \$7.00     | \$8.169.00  |  |  |
| 44   | Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167              | Sq. Ft. | \$24.50    | \$28,591.50               | \$4.00     | \$4.668.00  |  |  |
| 45   | Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer)  | 4,667              | Sq. Ft. | \$23.50    | \$109,674.50              | \$5.00     | \$23.335.00 |  |  |
| 46   | Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer)   | 1,167              | Sq. Ft. | \$24.50    | \$28,591.50               | \$6.00     | \$7,002.00  |  |  |
| . 47 | Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/scaler). Does not include repair/replacement of damaged wood floor   | 1.167              | Sq. Ft. | \$24.50    | \$28,591.50               | \$1.00     | \$1.167.00  |  |  |
| 48   | install 1/4" thick new epoxy flooring over existing epoxy floor to include; substrate preparation, and two separate floodcoats (clearcoal/sealer)   | 1.167              | Sq. Ft. | \$23.50    | \$27,424.50               | \$6.00     | \$7,002.00  |  |  |
| 49   | Remove and replace kitchen equipment, including disconnect and reconnect of gas, water and electrical supplies. Contractor must submit drop test certification in writing to M-DCPS   | 160                | Hour    | \$35.00    | \$5,600.00                | \$20.00    | \$3.200.00  |  |  |
| 50   | Remove and replace storage shelving, furniture and non-kitchen equipment. Does not include built-in storage/shelving units  | 160                | Hour    | \$20.00    | \$3,200.00                | \$20.00    | \$3,200.00  |  |  |
| 51   | Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8   | 1,167              | Sq. Ft. | \$22.00    | \$25,674.00               | \$4.00     | \$4,668.00  |  |  |
| 52   | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris   | 1.167              | Sq. Ft. | \$2.00     | \$2,334.00                | \$5.00     | \$5.835.00  |  |  |
| 53   | Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris   | 1,167              | Sq. Ft. | \$2.50     | \$2.917.50                | \$4.00     | \$4,668.00  |  |  |

|     | BIO PROPOSAL FORM (FORMAT B) Type or print in this box the complete name of the hidder:                    |                       | -             |            |               |                              |               |  |  |
|-----|--|-----------------------|---------------|------------|---------------|------------------------------|---------------|--|--|
|     | Bid No.: 090-NN09  |                       |               | Kasas Cons | truction, Inc | **Trident Su                 | rfacing, Inc. |  |  |
|     | Title: Epoxy Flooring: Furnish and Install   |                       |               |            |               |                              |               |  |  |
|     | Buyer: Suzanne F. Lopez  |                       |               |            |               |                              |               |  |  |
| тем | DESCRIPTION  | EST QTY.<br>(24 M0S.) | UNIT          | UNIT PRIĆE | TOTAL         | UNIT PRICE                   | TOTAL         |  |  |
|     | AWARD: An award will be made on a total low bid basis, for Items 1 through for an award.                   | 81, to the lov        | vest respons  |            |               |                              |               |  |  |
|     | 1/8" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF (                                     | slip resistan         | ce) coefficic |            |               | **Vendor did not mect requir |               |  |  |
|     | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (slip resistance) coefficien           |                       |               |            |               |                              |               |  |  |
|     | Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  |                       |               |            |               |                              |               |  |  |
|     | Items 54 through 81 are for Ancillary Services   |                       |               |            |               |                              |               |  |  |
| 54  | Remove and replace floor mounted toilets including disconnect and reconnect of water supply.               | 50                    | Each          | \$165.00   | \$8.250.00    | \$100.00                     | \$5.000.00    |  |  |
| 55  | Remove and replace privacy partitions  | 125                   | Linear Ft.    | \$22.00    | \$2,750.00    | \$10.00                      | \$1,250.00    |  |  |
| 56  | Slope to drain maximum thickness 2" .  | 250                   | Sq. Ft.       | \$20.00    | \$5,000.00    | \$15.00                      | \$3,750.00    |  |  |
| 57  | Slope to drain thickness greater than 2"   | 250                   | Sq. Ft.       | \$24.00    | \$6.000.00    | \$15.00                      | \$3,750.00    |  |  |
| 58  | Supply and install 4" integral cove base   | 2,500                 | Linear Ft.    | \$3.00     | \$7,500.00    | \$5.00                       | \$12,500.00   |  |  |
| 59  | Supply and install 6" integral cove base   | 1,250                 | Linear Ft.    | \$4.50     | \$5,625.00    | \$6.00                       | \$7,500.00    |  |  |
| 60  | Replace 4" round floor drain in any type surface in which the existing drain is fully or partially exposed | 5                     | Each          | \$175.00   | \$875.00      | \$400.00                     | \$2,000.00    |  |  |
| 61  | Replace 6" round floor drain in any type surface in which the existing drain is fully or partially exposed | 5                     | Each          | \$195.00   | \$975.00      | \$500.00                     | \$2,500.00    |  |  |
| 62  | Replace 4" round floor drain in any type surface in which the existing drain is unexposed                  | 3                     | Each          | \$220.00   | \$660.00      | \$0.00                       | \$0.00        |  |  |
| 63  | Replace 6" round floor drain in any type surface in which the existing drain is unexposed                  | 25                    | Each          | \$260.00   | \$6.500.00    | \$0.00                       | \$0.00        |  |  |
| 64  | Install Moisture Barrier   | 9.500                 | Sq. Ft.       | \$5.00     | \$47.500.00   | \$1.50                       | \$14,250.00   |  |  |
| 65  | Install stair treads .   | 3,750                 | Sq. Ft.       | \$25.00    | \$93,750.00   | \$4.00                       | \$15,000.00   |  |  |
| 66  | Install stair risers   | 3.750                 | Linear Ft.    | \$9.00     | \$33,750.00   | \$4.00                       | \$15,000.00   |  |  |

|     | Type or print in this bos the complete name of the bidder:   |                       |                               |                   |                             |               |  |  |  |
|-----|--|-----------------------|-------------------------------|-------------------|-----------------------------|---------------|--|--|--|
| ľ   | Bid No.: 090-NN09  |                       | Kasas                         | Construction, Inc | **Trident Su                | rfacing, Inc. |  |  |  |
|     | Title: Epoxy Flooring: Furnish and Install   |                       |                               | •                 |                             |               |  |  |  |
|     | Buyer: Suzanne F. Lopez  |                       |                               |                   |                             |               |  |  |  |
| ЕМ  | DESCRIPTION  | EST QTY.<br>(24 M0S.) | UNIT UNIT PRICE               | TOTAL             | UNIT PRICE                  | TOTAL         |  |  |  |
|     | AWARD: An award will be made on a total low bid basis, for Items 1 through 81, to the lowest respons for an award. |                       |                               |                   |                             |               |  |  |  |
| 1   | 1/3" Epoxy Flooring, Type N - Normal Duty, shall have a minimum SCoF   | (slip resistan        | cc) coefficie                 |                   | ""Yendor did not meet requi |               |  |  |  |
|     | 1/4" Epoxy Flooring, Type H - Heavy Duty, shall have a minimum SCoF (sl  | lip resistance        | ) coefficien                  | Certified by      | y M-DCPS.                   |               |  |  |  |
| .   |  | •                     | •                             | ·                 |                             |               |  |  |  |
| -   | Items 1 through 14 are for projects from 0 to 500 Sq. Ft.  |                       |                               |                   |                             |               |  |  |  |
| 67  | install stair stringers  | 250                   | Linear Ft. \$60.00            | \$15,000.00       | \$5.00                      | \$1.250.00    |  |  |  |
| 68_ | Remove existing metal stair nosings & prepare stairs to receive new epoxy nosings and coatings                     | 8 334                 | _Linear_Ft\$8.00              | \$66,672.00       | \$1.00                      | \$8.334.00    |  |  |  |
| 69  | Install stair nosings  | 3,334                 | Linear Ft. \$12.00            | \$40,008.00       | \$4.00                      | \$13.336.00   |  |  |  |
| 70  | Install stair landings   | 834                   | Sq. Ft. \$36.00               | \$30,024.00       | \$6.00                      | \$5,004.00    |  |  |  |
| 71  | Prepar and install impervious epoxy coatings on walls and ceilings   | 16,667                | Sq. Ft. \$40.00               | \$666,680.00      | \$1.75                      | \$29.167.25   |  |  |  |
| 72  | Prepare/replace seriously damages walls to receive impervious coatings   | 6,667                 | Sq. Ft. \$8.00                | \$53,336,00       | \$1.50                      | \$10.000.50   |  |  |  |
| 73  | Plumber to replace shut off valves for gas lines (must be properly certified)                                      | 13                    | Each \$150.00                 | \$1.950.00        | \$50.00                     | \$650.00      |  |  |  |
| 74  | Plumber to replace shut off valves for plumbing fixtures   | 20                    | Each \$120.00                 | \$2,400.00        | \$50.00                     | \$1,000.00    |  |  |  |
| 75  | Plumber to replace covers for 4" round floor drains  | 13                    | Each \$60.00                  | \$780.00          | \$50.00                     | \$650.00      |  |  |  |
| 76  | Plumber to replace covers for 6" round floor drains  | 13                    | Each \$70.00                  | \$910.00          | \$50.00                     | \$650.00      |  |  |  |
| 77  | Plumber to replace flush valves for toilcts  | 13                    | Toilet \$240.00               | \$3,120.00        | \$25.00                     | \$325.00      |  |  |  |
| 78  | Montly price to furnish 40 cubic ft. storage container   | 17                    | Month \$650.00                | \$11,050.00       | \$150.00                    | \$2.550.00    |  |  |  |
| 79  | Monthly price to furnish 20 cubic ft, storage container  | 17                    | Month \$500.00                | \$8,500.00        | \$120.00                    | \$2,040.00    |  |  |  |
| 80  | Additional mobilization/setups to complete a project that requires work to be performed in excess of three phases  | 11                    | Additional \$750.00<br>Set-up | \$8,250.00        | \$100.00                    | \$1,100.00    |  |  |  |
| 81  | Furnish and install new bullet feet on metal shelves   | 167                   | Each \$12,00                  | \$2,004.00        | \$8.00                      | \$1,336.00    |  |  |  |
|     |  |                       | TOTAL                         | \$2,300,201.00    | ,                           | \$482,935.75  |  |  |  |